LR : =48 F5: T

(BERR5HHESTY KIEER= (100 4)

e . ‘ o 12y*, 0<y<x<l _
1. W ERENLASE (X, Y) MRS R EE N f(x, ) = 0 Tt 3k (1) E(X),E(Y),E(XY);

(2) D(X),D(Y); (3) Hr X,Y RAEHHK. (2040

2. WHNZR (X, Y)BREAMHEN Y] 1 0 1 Wit (D X,y ZEMAL?
0 0 1/3 0
1 1/3 0 1/3

(2) X,y EAMHx? (15 49)

3. WXL X, X, K EEA SR X ~N(©0,03%) — M RABALEA. R (1) P(X20): (2) Kk

10
PO X7 >1.44). (241 x,,(10)=16) (10 5

i=1



YRR - s 5
4. THENEBATINER, ISR (W& TN, WA BORR Z 2 AL, HefT#f7E(-0. 5, 0. 5]

AR EI A (1) E% 1500 DNEGEIN, R Z S A 43 HERT 15 MR 202 (2) fb TN
{E— A 15 3R 22 B AN HE /N T 10 B A T 90% 2 (15 43)

1 =
—e?, x>0

5. BUEMR X MIMEREERE f(x) =10 , X, Xy, X, EHAEE X Rfa BN, (DR O

A

(AR O (23R QMBI 6. (20 49

X |1 2 3
6+ WRME X FIMER AR Hd 0 & RS HL P |(1-6 6-02 0

RXEBWTFOEARE: 3, 1, 3, 1, 3, 1, 2, 3, RO MMEATHEMBR PSR ETHE. (20 43




